C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
1) Each day 311 new apps are uploaded to aweb server. After 98 days, how many apps
would have been uploaded? 1
2.
2) A video game company can fit 711 boxes of gamesinto atruck. If they have 48 full trucks,
how many boxes of games do they have total ? 3.
4.
3) A lawn mowing company had 591 customers. If each customer paid 91 dollars a year, how
much money would they make? 5.
6.
4) A fundraising company went to 336 different schools delivering 28 boxes of candy to each
school. How many boxes did they deliver total ? 7.
8.
5) A movietheater sells 480 buckets of popcorn aday. If each bucket has 23 pieces of
popcorn in it, how many pieces do they sell in aday? 9.
10.

6) A construction crew uses 150 pounds of concrete for each section of a parking garage. If
the garage is going to have 95 sections, how many pounds of concrete will they need?

7) A new library received 522 boxes of books with 15 books in each box. How many books
did the library receive total ?

8) A school bought 666 boxes of computer paper for the computer |ab. Each box had 70
sheets of paper inside it. How much paper did they buy total?

9) A mail sorting machine can sort 860 pieces of mail an hour. If it ran for 87 hour, how
many pieces of mail would it have sorted?

10) A cruise ship compartment can hold 981 pieces of luggage. If a ship had 61 compartments,
how many pieces of luggage can it hold?
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Ch Finding Product (3 x 2) Name: Answer Key

Solve each problem. Answers
1) Each day 311 new apps are uploaded to aweb server. After 98 days, how many apps
would have been uploaded? 1. 30,478
2. 34,128
2) A video game company can fit 711 boxes of gamesinto atruck. If they have 48 full trucks,
how many boxes of games do they have total ? 3. 53,781
4. 9,408
3) A lawn mowing company had 591 customers. If each customer paid 91 dollars a year, how
much money would they make? 5. 11,040
6. 14,250
4) A fundraising company went to 336 different schools delivering 28 boxes of candy to each
school. How many boxes did they deliver total ? 7. 7,830
8. 46,620
5) A movietheater sells 480 buckets of popcorn aday. If each bucket has 23 pieces of
popcorn in it, how many pieces do they sell in aday? Q. 74,820
10. 99,841

6) A construction crew uses 150 pounds of concrete for each section of a parking garage. If
the garage is going to have 95 sections, how many pounds of concrete will they need?

7) A new library received 522 boxes of books with 15 books in each box. How many books
did the library receive total ?

8) A school bought 666 boxes of computer paper for the computer |ab. Each box had 70
sheets of paper inside it. How much paper did they buy total?

9) A mail sorting machine can sort 860 pieces of mail an hour. If it ran for 87 hour, how
many pieces of mail would it have sorted?

10) A cruise ship compartment can hold 981 pieces of luggage. If a ship had 61 compartments,
how many pieces of luggage can it hold?
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C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
34,128 30,478 7,830 14,250 9,408
74,820 53,781 46,620 59,841 11,040 1.
1) Each day 311 new apps are uploaded to aweb server. After 98 days, how many apps 5
would have been uploaded? '
3.
2) A video game company can fit 711 boxes of gamesinto atruck. If they have 48 full trucks,
how many boxes of games do they have total ? 4.
5.
3) A lawn mowing company had 591 customers. If each customer paid 91 dollars a year, how
much money would they make? 6.
7.
4) A fundraising company went to 336 different schools delivering 28 boxes of candy to each
school. How many boxes did they deliver total? 8.
9.
5) A movietheater sells 480 buckets of popcorn aday. If each bucket has 23 pieces of
popcorn in it, how many pieces do they sell in aday? 10

6) A construction crew uses 150 pounds of concrete for each section of a parking garage. If
the garage is going to have 95 sections, how many pounds of concrete will they need?

7) A new library received 522 boxes of books with 15 books in each box. How many books
did the library receive total ?

8) A school bought 666 boxes of computer paper for the computer lab. Each box had 70
sheets of paper inside it. How much paper did they buy total ?

9) A mail sorting machine can sort 860 pieces of mail an hour. If it ran for 87 hour, how
many pieces of mail would it have sorted?

10) A cruise ship compartment can hold 981 pieces of luggage. If a ship had 61 compartments,
how many pieces of luggage can it hold?
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